T % B A #

=] =

A | 10/ X

(AT NES P T BT R e VRS s

R X AR ERE IH 5

AT REH M 4h,
i TR L= 567 m
EAEE IR T A= 2,712 m2
i+ L N= 1 =
TR
el T
== 7% £E AEAR BED
T = & i += I AT
N R &=
5y Pran Pran Pran
. XA o | mImEE | gomsE | HImEAsE
Tl A%
HERBIO
5B RO %A

HRSPOEia




FRLI X S EHAEE 10 T

J

AT = E AN R F

% B - T FE - H® Bl - M B % N BANL H i & % Bl AT 2 5 | b
Hipd
1 =
AR T
2, 500 m2 A 15
HHAET
T AT 7L MEEE  t=4cm 2, 500 m2 A 2 FE
e L
1 = A 35
et
1 Y A 45
[ERERE X -4
I R F
1 =
Im i (1)
1 =
Il R Ry
1 =
fh T
1 =
Bl A
1 =
T =5l
1 =

N P i




FRLI X S EHAEE 10 T

AT = E AN R F

% B - T FE - H® Bl - M B % N BANL H i & ) Bl AT 2 5 | b
—E R E
1 =
T Ak
1 =
TH 2 Bl S FH 4 %A
1 =
At

NS P i




FRLI X S EHAEE 10 T

J

AT = E AN R F

% B - T FE - H® Bl - M B % N BANL H i & % Bl AT 2 5 | b
B
1 =
AR T
212 m2 A 5 &
HHAET
T AT 7L MEEE  t=4cm 212 m2 A 6 B
e L
1 = A TH
et
1 Y A 8 &
[ERERE X -4
I R F
1 =
Im i (1)
1 =
Il R Ry
1 =
fh T
1 =
Bl A
1 =
T =5l
1 =

N P i




FRLI X S EHAEE 10 T

AT = E AN R F

% B - T FE - H® Bl - M B % N BANL H i & ) Bl AT 2 5 | b
—E R E
1 =
T Ak
1 =
TH 2 Bl S FH 4 %A
1 =
At

NS P i




FRLI X S EHAEE 10 T

[ % 1 5 MUz ]
B T

100

m2 40

B

#

i

HAL

i

=

Bl BTG 2 7

fii

at

HAL472Y

100

m2

NS P




FRLI X S EHAEE 10 T

[ % 2 5 AUz ]

HiEET T A7 70 M t=4cm 100 m2 40
4 wmo- #l % £x'e & BN H fii 4 H B M HELA 2 5 i =

FoJE (FE - AR 184 Y {1 EE40mm
FAEE R T 22y (13) 100 m2 P 2

ao

at

HAL472Y

NS P




SR b XA 2SR 1B T

[ £ 3 5 Atz ]

AT 1 V)
4 77/ I 7| s % & AL H il 4 % B At BT 2 5 | =
EEERR B
TATTVMEREERR 15emPL T 319 m P 35
il 2 A A
TATTVMEEERR B 15embL T 2, 500 m2 P 4%
B SRR
A SRt AN B 15emif X T M8 100: m3 P 5%
TA7 7V R
100 m3
R E AR TE MR 15em

WAL, bmm A 271 m e 1 &

ERRERE AR TE) FER 45em
@Z‘HJ—I 5mm [ 14 m o2 =
X ERR R E AR TR AR 30em
WATEL. 5mm A 13 m Wi 3 B

R E AT KH-E S X F15en
@Z‘EJ—I 5mm [ 73 m W4 =

3 :

NS P i




FRLI X S EHAEE 10 T

[ % 4 5 MUz ]
wet V)
4 R i e & BN H fii & EH B AT 2 5 i
AT A BB
36 AL

NS P



FRLI X S EHAEE 10 T

[ % 5 5 MUz ]
B T

100

m2 40

B

#

i

HAL

i

=

Bl BTG 2 7

fii

at

HAL472Y

100

m2

NS P




FRLI X S EHAEE 10 T

[ % 6 5 AUz ]

HiEET T A7 70 M t=4cm 100 m2 40
4 wmo- #l % £x'e & BN H fii 4 H B M HELA 2 5 i =

FoJE (FE - AR 184 Y {1 EE40mm
FAEE R T 22y (13) 100 m2 P 6

ao

at

HAL472Y

NS P




FRLI X S EHAEE 10 T

[ % 7 5 MUz ]

L 1 H %4y
4 R . i # e s BN H fii & i B M HELA 2 5 i E2)
&l 25 RO e
TAT7WMEREERR 15emPA T 36 m P 35
B AL R A
TAT7VIEREERR 2 15emPL 212 m2 P 4 5
AR SRR
A BEoct AN B 15emi X T M8 8: m3 P 55
7277 R
8 m3

X E AR TR M 45em
WA 1. 5mm H 3 m

&
afo

at

Ny P i



FRLI X S EHAEE 10 T

[ % 8 5 AUz ]
wet V)
4 R i e & BN H fii & EH B AT 2 5 i
AT A BB
3 AT

NS P



